
Reply to the Question 

Dear engineer,  

Thank you for your side of the problem with our help, I reply directly inside that does 

not seem to be successful, for which I can only re-edit WORD format, I hope you forgive me. The 

following is a series of test waveform images that I provide, please refer to. 

1、 

 



 

 



The above three pictures are the test G, S-side waveform. 

2、IGBT drive waveforms。 

 

 

The first 

picture in 

the 

expansion

, is 

actually 

the same 

picture. 

Channel 1: VT4: 4-5, Channel 2: VT4: 6-7, Channel 4: IGBT primary current. Input voltage 

is 0, the whole test waveform alone. 

3、Input voltage is 750V, the whole load test waveform。 



 
 NOTE: The output is added 20KW resistance. 

NOTE：U1 1,2 feet waveform temporarily not tested. 

4、The following is OUTA, OUTB side of the output waveform, which is 12 feet to 11,14 

feet. 

 



 

The following is the 12-foot 4-pin waveform： 

 

 

 

 



Problem: 

1, may I ask engineers also need pictures of those places? 

2, from the current picture provided, you can determine the circuit design defects? Or G, 

S-side output is not due to UC2525BN caused? 

3, analysis of the project is there a specific designated e-mail it? Do you have someone to 

analyze and solve for our problems? If I reply directly in the mailbox inside, in the bottom 

of the window to reply particularly slow and less flexible. There is no place to upload 

attachments. 

4, can analyze and explain G, S end without output waveform is not caused by 

UC2525BN? 

      Thank you for your help, thank you very much. If you still need me to provide other 

information please explain in time. 

 

 


